
SAP ABAP table REGUPW {W/tax information per w/tax type/FI line item in pmnt run}

REGUPW

MANDT [CLNT (3)]

LAUFD [DATS (8)]

LAUFI [CHAR (6)]

BUKRS [CHAR (4)]

BELNR [CHAR (10)]

GJAHR [NUMC (4)]

BUZEI [NUMC (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

HKONT [CHAR (10)]

QSREC [CHAR (2)]

J_1BWHTCOLLCODE [CHAR (16)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 REGUPW-HKONT = SKA1-SAKNR 
0..N

1

T000

MANDT [CLNT (3)]
 REGUPW-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 REGUPW-BUKRS = T001-BUKRS 0..N

1

T059C

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

QSREC [CHAR (2)]

 REGUPW-QSREC = T059C-QSREC 
0..N1

T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 REGUPW-WITHT = T059P-WITHT 

0..N

1

T059Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

 REGUPW-WT_WITHCD = T059Z-WT_WITHCD 

0..N

1

T059Z_WITHCD2

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHCD2 [CHAR (16)]

 REGUPW-J_1BWHTCOLLCODE = T059Z_WITHCD2-WITHCD2 

0..N

{0,1}


